
 

Lecture 19

Warmup Please compute
1 cos cos 7176 cos I 53 2 55 6

2 sin cos 3514 gun TEIZ 1514
3 cos cos 1st II

Recalls F X y st Fey x

cos X y st cos y X and O E y E CT

sm X y St sin y X and 1072 Eye 1072

Remarks 1 cos cos x X

Sir sin x X

2 cos cos x X is not nec true
Sin Ssh x X a a

cos X y St cos y x and 0 Eye IT
cos cos x cos y X

53 2 cos 75 6
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Section G L

Define An angle is two rays mutual r y and a term

ray that both start at same point
Ex y terminal

initial

The measure of an angle is an amount of degrees

needed to rotate the initial ray onto the terminal

ray
clockwise rotate neg angle measurement
counterclockwise ratiatra pos u

Remark A degree is 4360th of the way around a circle

A 2K radian is the length of the path around the circle

w circum 21T

360 degrees 21T radians

Ex D Express 5516 radians in degrees
5 360 deg 5 60 oradf deg 150
6 2 rady 2

2 Express 560 in radians
56 dreg 21T rad itL rad

I 360 deaf 360



Section 6.2 Trig of Right Is

Rmit's Given a S

toc

then two sides give two rays and thus an angle

Deh A right triangle is a triangle w one angle

equal to 900 It rad

Ex E

h
b

O r
a

Defn Let 0 be an acute angle less than 900 formed

by 2 sides of a right I
I

hypotenus opposite

10 r
adjacent

Then the trig rations associated to 0 are O

Sir O opt cos 8 adj
hyp hyp



Csc O hype secco hype
opp adj

tanto opp cot O adj
adj opp

SoHCAHTOA

Exoo sin O

5 cos O
z 3

0
taco T

4

Ex 8 If cos G IT then what are the other trig ratios
associated to the angle 0

tan Ot Sm O secco escco cotCO
cc 11 il n e

TF TF 4 4 3

3 4 3 57 TF

4 hyp adj t
opp

Ft
IO

3

16 9 opp 3 7 Copp 72

opp t TI

r



Ex I 1 sin 450 Tz Ff
2 cos 450 12

T2 3 45 dreg 21T rad 90TI rad
1 360 deg 360

0 450 5
4

sin Tae T2 cos Ecu

Ex 1 sin Goo f3 z

2 cos 60 12L z2 2 300
fog 71 Go deg Trade rad

10
600

i 180 deg 3

sin Ltd T3 2

cos ITIS 12

Sin Tko cos Tko

22T rad 2T rad
1

zgoaeg goi

Ex E
R

a 6
700

b 653

What are a and b
sin 300 9 12 12 sin 300 a

a 12 I 6

cos 30 b 12 3 12 cos zoo b



be 12 B12 GT3

Facto r cos O X

r r sin O yy
j O r 2 YZ

x

or 8 sin20 cos O 1

Proof
yr Y't I

think sin'O cos'O L holds the information of pathagarian's
thru

Section 6.3

Rink Unit circle approach is equiv to the right A approac

r

XoYo
y

O Yo
Xo X



Unit circle approach 3 cos O Xo

Sir O Yo
Right S cos O X 11 Xo

Sin O fo

Ex 8 a cos 1350

a
Yo TO

1350

Tx
188 1350
450

cos 450 Xo 52 2

cos 1350 T2 2 71 6
b tan 2100

tan 309 53 3

C Xo yo

tan 2100 Itar 307
after we

as

C Xo yo
xoxo tan 2107 57 3

ton 2100 YI
Xo
Sin 20 cos 2h00



3 tar Foo yo Xo yo Xo tan 2 too

Ecu 7516 is computed via

term pt 7516 tem pt of Ice but w

treys on both X y coords


